A-Series

Friktionstaste justerbart / Friction attachment adjustable

Art.nr 800984




Friktionsfaste justerbart / Friction attachment adjustable

,&tdrages efter behov /

Tightened as needed /
0 Nach Bedarf festgezogen

(=

N S
Vandbar / Turnable r'-: |

L
=

32

14

Alternativt montage av glidplast (4) och ramanhall
Glidplast och ramanhall (14) vands, beroende pa
flansbredd.

Alternative mounting Of sliding pad (&) and frame suport
(14). Sliding pad and frame support are reversed,
depending on the flange widfh.

O
<

—[nonononofnolofo] == == === =] ===

Benémning Description
UNDERBYGEL KOMPLETT FASTENING PLATE COMPLETE
UNDERBYGEL FASTENING PLATE
FRIKTIONSLIST FRICTION LIST
GUMMIPUCK RUBBER
LASMUTTER M8 LOCKING NUT M8
SKRUV M8x25 SCREW M8x25
MONTERINGSPLATTA MOUNTING PLATE
LASKLACK VANSTER LOCK FITTINGS LEFT
LASKLACK HOGER LOCK FITTINGS RIGHT
GLIDPLATTA SLIDING PAD
TACKPROPP COVER CAP
STIFT LOCKING PIN
SKRUV M20x120 HELGANGAD  |SCREW M20x120 FULLY THREAD
BRICKA M20 WASHER M20
SKRUV M12x50 SCREW M12x50
BRICKA M12 WASHER M12
LASMUTTER M12 LOCKING NUT M12
LASMUTTER M20 LOCKING NUT M20
BRICKA NORDLOCK M20 WASHER NORDLOCK M20
RAMANHALL FRAME SUPPORT

EXT¢ Vikt / Weight: 11 kg

Securing cargo. We invented the concept.

>

=

>
N

>
w

>
~

800984_DAT E

©o|o|~|o|a|s|w|o]—=| S

HIWIN[—|O

ExTe Fabriks AB, SE-820 41 Farila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se




